A}

HDER e $ 15 44 [a) £ B 28 = 1T 48

HD series spiral bevel gear umt

IZHEHE R R R SRR EEIRER, HEMHRWT:

1\
2.

4\
5\

N —

(S8

FKZ IR A IENTER, BEENTRAMARE.
WmE I ERAEMK, REEAKX, TR, BEREREREER SIXI0K/F, %35
WMEF1594%~98%.

IMER#EEREBMRERSEEHN, ZKERENALE, FEWERS, KABER

SRR EE AR EE.
HDAR Ik E 1A LMK, ZESEEX, WHBERXZHEH, AIHEZMIIGHEE.
A SRIBRFIIE R A A E s T .

spiral bevel gear unit,the following is trait:

. the box is hexahedron,which can fit different direction mounting
. long-lift using and big load,sooth transmission,low noise,transmission efficiency can up to 94%-98%
. spiral bevel gears are made of low carbon alloy steel,through quenching and whetting,come to high precision

rigidity tooth transmission

. HD serie have seven specs,big choosing range,mult- output shaft mode which meet various situation
. enhancing and reducing speed

B= = iE' AR /f
Mode denotation

HD AF 11 - 2:1 - D

B2 A BEE Mounting type and turning
£ L ratio

6] B8 HELS Commutator frame size
BX3EK S &2, Connection symbal and form

[ 28X S Commutator symbal

KEEASEER
Connection symbal and form
HD @, M thh B HDA G NGH{R. i thhae LB EE

HD coupled of input(output)shaft stretch | HDA coupled of input shaft stretch and output shaft mounting

HDF  HgiNE=. MR BkE HDAF i NEZ. Wi R EkiE

HDF coupled of output shaft with input flange | HDAF input flange. coupled of output shaft mounting

<EIE>

Product chart

A78.




A79.

=. ittt &

Ratio account

. BN N .
I 1
Ratoi i= ozf:uttsspe:;dnnz When i>1 reducing speed,i<1 adding speed

M, BSpYEE
Choosing type
1LEBFEANR: (1) PINPIXF (B/NBTREEREA K F2005% /) )
(2) PIN=1. 2XPIXf (/NEHEAF IR E)21 ~605% / /B
(3) PIN<PN
RN RE W GUNTF S ETFRIE
XH: PINGIREIINER, PIALREENIR, (AKARYE PNATFAIE.
Calculation formula: (1)Pin=P1Xf(not higher than 20/hour)
(2)P1n=1.2XP1Xf(start 21-60/hour)
(3)PIN<PN
select power must be lower or equel to fixed power
note:P1N is select power P1is demand power fis service factor, PN is fixed power.

2 {EFAZEEF Using quotiety f

[EEh# E%%g@ﬂ ‘ 7?@5?,"7::9_—*2 Load type ‘
Driving machine | YVerking hours/day WE Rk |pEhERE| EHERE
our) Uniform load Medium load Heavy load
B, =l 3 0.8 1.5
R 1
BIESIE 3~10 1 1.25 1.25
Urbine
hydraulic motor 10~24 1.25 1.5 2
3 1.25 1.5 2
qusif‘:gt:]e 3~10 1.5 1.75 2.25
10~24 1.25 2 2.5

. BRIERZ
thermal power
1. INZ 1+ 5. PaN=PeXf1xf2
PaN>P1 (B FREED)
PaN<P1  (XLE3EHA AD)

R FID IR R foN S TIERE, Pt B AR E, Py TIESIREE

&, PaNAREFITEARE.
thermal power account: PeN=PcXf1xf2
PeN>P1 (nature cooling)
PaN<P1 (fan and oil cooling)
note: surronding temperature coefficient f1,continuous work coefficient f2,commutator
thermal capacity PG,P1:actual need power. PGN:account thermal capacity of commutator

>l
7

2. INE;EE ZE(f1  surronding temperature coefficient f1

HEmE . C 10 20 30 40 50
R A 1.2 1 0.87 0.75 0. 64

3. ELET1EZEELF2 continuous coefficient 2

S AR 100 80 60 40 20
2 1 1.2 1.4 1.6 1.8
M EPe (BRI ED) thermal capacity PG (nature cooling) .
s FEIKELS Box type
ratio i 09 11 14 17 21 24 28
1~5 4.5 6.5 11 15.5 24 31 44

. BRAEARHRE

ANN

universal technology norm

1. EFNGEE R~ 754 GB1095-79. GB1096-79 HUMIE, $BIETEAZE: HN9, #ERJISI.
2. NP OFLATHIREL, MBI
D=11~13mm 52 FLM4 D > 24~30mm #2FLM10
> 13~16mm B2 FLM5 > 30~38mm 2FLM12
> 16~21mm 52 FLM6 > 38~50mm BZFLM16
> 21~24mm #2¥LM8 > 50~85mm 52¥LM20
3. fESME RS RTE R SING . 3AH , RS ANHAE RV ROTEOR T, ATIS I S E
MINMSEITISR BN .
1.The size of the key and keyway must be accord with GB1095-79. GB1096-79, the tolerance of the
keyway width: shaft N9, wheel JSO.
2.The center of the output and input shaft has screw, the standard as follow:
D=11~13mm screw M4 D>24~30mm screw M10
>13~16mm  screwM5 >30~38mm screw M12
>16~21mm screw M6 >38~50mm screw M16
>21~24mm  screw M8 >50~85mm  screw M20
3.In the diagram of the mouting diemessions, the output shaft can be considered as input shaft if the
speed and torque allowed.

£ B 5 {5

Choosing example

5. fREERR IRz AR hEHE SRR m) BF
RS LR EETNZRP1=28KW; EA|IIZEP2=30KN, HEH1%5En1=2000r/min
REntbi=2, #®EBFEBEAKAD, GRIIES/NIE, S/RHESTERE A
60%, F/\BFEEIF6)%, INEIRE A30C.

.180.




181,

RB . REERFESV A, PEREHE, BRIIESNE, RERR
f 1.25
BTN . PIN=P1Xf=28x1. 25=35kw (B /)\F#2156.%
RIFAINE. RFEEREIS H21, PN=52. 4KW>35kw
IR 821, IRRBFEFR Pe=24KW
RIMNEIRE R#E%k: f1=0.87
IRESETIERESR: f=1.4
PGN=24X0. 87X1. 4=29. 2KW>28KW
SEEEAEIE]
ERIELS 4. HD21-2D
Example: beater is drived by spiral bevel gear unit
beater actual need powerP1=28KW; moter power P2=30KW, motor speed n1=2000r/min
ratio i=2, mounting type of commutator D, work 8 hours one day, continuous work
hours of every hour:60%, start stop 6 times/hour, surrounding temperature:30C.
Choosing type: driving machine of beater is motor, medium load, work 8 hours/day,according

to using coefficient table:

fu. fEENtE. B ERE R IFRMAIIE ratio. input(output)speed and allowable input power

f=1.25

choosing tpye power: PIN=P1Xf=28x1.25=35kw(start stop 6 times/hour)
according to allowable: choosing box tpye21, PN=52.4KW>35kw
thermal power: box 21,according to thermal capacity form PG=24KW
according to surrounding temperature form: f1=0.87
according to continuous work coefficient form: f2=1.4
PGN=24X0.87X1.4=29.2KW>28KW

nature cooling is ok choosing type : HD21-2D

HDO09-HD28(i=1~5) \ & d & =t B 4

TGS

HD09-HD28 (i=1~5) coupled of input (output) shaft stretch

HDAME RIE R~ HD outline and mounting dimension
d3(h7)
S (<] e
— S .
) Q,
\ o
L e e t . H-® N -{= ﬁ :
© |
) ® ® ©
C3 Cs C2
g I
I2 82 & l2
C1 a C1
e - £
= = -

. . #1AELS Box type
B Eﬁ])\%ﬁm Eﬁjﬁﬁﬁnz 09 [ 11 [ 14 | 11 ] = 21 [ 24 28
r/min r/min PFFMBINIIZEPY (KW) Allowable input power PN (KW)
2000 2000 7.55 13.8 29.9 49.2 84 11 188
1 1500 1500 6 11 23.9 39.3 67.5 90. 5 156
1000 1000 43 7.85 17.2 28.8 50. 5 68 115
750 750 3.4 6.15 13.4 22.8 40.8 54.5 94.2
2000 1333 5. 45 9.7 16.8 33.9 70 92.5 124
1500 1000 4.3 7.75 13.5 27.2 56. 5 75.5 103
1.8 1000 667 3.05 5. 45 9.7 19.6 41.2 55.5 75.5
750 500 2.3 4.25 7.6 15.5 33 44.5 60. 5
2000 1000 4.2 7.95 141 26.2 52.4 71.5 107
1500 750 3.35 6.3 11 20. 8 43.2 58.5 88
2 1000 500 2.35 4.45 7.85 14.9 31.4 41.9 64.5
750 375 1.8 3.45 6.2 1.6 25.2 33.8 51
2000 667 2.85 5.6 10.1 18.2 34.9 52. 4 73
1500 500 2.2 4.45 7.95 14. 4 27.7 41.9 58. 5
8 1000 333 1.5 3.1 5.6 10.1 20 30. 2 42.4
750 250 1.2 2.4 4.4 7.8 15.7 23.6 33.5
2000 500 2.15 3.75 6.8 10.5 23.3 37.7 47.6
1500 375 1.65 2.9 5.3 8.4 18.5 30. 2 38.5
4 1000 250 1.15 2 3.75 5.9 134 21.7 27.5
750 188 0.87 1.55 2.95 4.55 10. 4 17.1 21.7
2000 400 1.4 2.95 5. 05 8.05 15.9 28.9 39. 4
1500 300 11 2.35 3.95 6. 45 12.7 23.4 31.4
S 1000 200 0.75 1.6 2.75 45 9 16. 4 22. 4
750 150 0.58 1.25 2.1 3.45 6. 95 13 17.7

E 1L ARMITRAEENRERER, SERIBEN, FRRMENRFENLL.
2 N EB R P E R, ESRNKR.

&
: FEREARIERE
Mounting form and rotation direction
e | e
2 8 (C1C2/Ca dal12|ds| | &8, m| § |12 i-3 | i=d | i-5 =18 ok
TYPE di/l1|di1|l1|d1|l1|d1/l1] d4 | d4 |Kg L
09|90 |12| 2|2 |18|35|88|45 /97|59 |36 |M6|18 35|16 (30| 11|23 |11/23| 72 | 62 | 6 (0.2
11]110/ 12 2 | 22|40 (108/55 |112(69 | 44 | M8 |22 |40 |20 |35 | 16|30 | 14 |25| 81 | 72 |10 |0.3
14 (140/12 | 2 | 2 | 32|50 [135|70 |132| 84 | 55 M10|32 |50 | 26 |45 |20 |35 | 16 |30 | 98 | 81 |20 |0.4
17[170[15 | 2 40 | 60 [165|85 [158|103| 67 [M12/40 | 60 |32 (50 | 26 |45 | 22 |40 | 118 | 98 |32 | 1
21210118 | 2 | 2 | 45|70 |205|105(195(125| 85 |M16| 45 | 70 {38 |55 | 32|50 | 30 |50 | 128 | 110 |60 | 2
24240118 | 2 | 2 | 5585 |235|120(220(140| 95 |M16| 55 | 85 |45 | 70 | 38 |55 | 35 |55 | 138 | 120 |75 |2.5
28128018 | 2 | 2 | 60 |110|275|140(255(160|110|M16| 60 [110(50 |80 | 45|70 | 42 |70 | 150 | 135 [115| 3

.182.




.183.

HD09-HD28(i=1:1.5,i=1:2 ) N tHt st Bk e HDO9-HD28 (1=1:1.5,=1:2) coupled of input (output) shaft stretch
HDME =3 R~F

HD outline and mounting dimension

HDAO9-HDA28% N, i s s Bk i
HDASME R R <t

TGS

HDA09-HDA28 coupled of input shaft stretch and output shaft mounting
HDAoutline and mounting dimension

G1

—‘—
2} ‘ )
S %L{zr @ 73;% = ° @ I g S
Iz =+t R | — 3 = © — —|91+ —@ 5 3 <
° Uf 1 f A [ \\ [ * °
) ® ) ®
C3 Cs3 C2
g1 11
l2 g g, I2
C1 a C1
m =)
o 1]
S S
FERF X RIEE [
Mounting form and rotation direction
F 1 1. HE | SNk
il 1=1:1.9) i=1:2 |wegi| "o
=] a |01 C2|C3|di|l1]d3|e| 8|8 m S|d4
TYPE doil2 | d2| [2|Keg| L
09 90 | 12 18 | 35 | 88 | 45 | 97 | 59 |36 | M6 | 72 | 11 |23 | 14| 25| 6 |0.2
11]110] 12 22 | 40 | 108| 55 [112| 69 |44 | M8 | 81 | 14| 25 | 18| 35| 10 | 0.3
14 | 140 | 12 2 2 | 32|50 | 135| 70 |132| 84 | 55 | M10| 98 | 16 | 30 | 24 | 40| 20 | 0.4
17 | 170] 15 2 3 | 40 | 60 | 165| 85 | 158 | 103 | 67 | M12|118 | 22 | 40 | 28 | 45 | 32 1
211210 18 2 2 | 45|70 | 205105195 | 125| 85 | M16|128 | 30 | 50 | 38 | 55| 60 | 2
24 | 240 18 2 2 | 55 |85 | 235120220 | 140| 95 | M16|138| 35 |55 | 45| 70| 75 |2.5
28 [ 280 18 2 2 | 60 (110 | 275|140 | 255 | 160|110 | M16 | 150 | 42 | 70 | 50 | 80 |115 | 3

| ds S e ‘ e
S 1 S
\
) D
0 |
1 . | i
@ () (&) (S}
Cs Gs C2
g4 1
g g I
C1 a C1
E I J
____ E
S e -
_al
£ ! —-_y _ f
| }
S
S
RERR RIEEHE
Mounting form and rotation direction
€ e
;:‘:Fg =1~ = = I = .:1/\/3 .:4/\/5 EE 7]1] 5E
1=1~2 3 4 | 1=h|i i
=|a|01/C2/C3/D2|d5|d3| e |88 m|S Welghty O
TYPE di/l1|dt/l1{dt1|l1|d1| 11| d4 | d4 |Kg| L
09/90|12| 2 | 2|16|25|88 |45 |97 |59 |36 |M6|18|35|16 /30| 11|23 |11 |23 | 72 62 | 6 |0.2
11/110/12| 2 | 2 |22 |35|108|55 (11269 |44 | M8 |22 |40 | 20|35 |16 [30 |14 |25 | 81 72 1 1010.3
14(140/12 | 2 | 2 |28 |45 |135| 70 |132|84 | 55 M10| 32 |50 | 26 | 45|20 |35 [16 |30 | 98 81 |2010.4
171170/ 15| 2 | 3 |38 |55 [165| 85 [158(103| 67 [M12| 40 | 60 | 32 | 50 | 26 |45 |22 |40 | 118 98 |32 1
211210/ 18| 2 | 2 | 45|65 [205(105(195|125| 85 [M16|45 | 70 | 38 | 55 (32 |50 |30 |50 | 128 | 110 | 60| 2
241240/ 18 | 2 | 2 | 55|75 |235(120(220(140| 95 |[M16|55 |85 | 45|70 | 38 |55 |35 |55 | 138 | 120 | 75 (2.5
281280[18| 2 | 2 |60 |85 [275(140|255(160|110|M16| 60 [110| 50|80 |45 |70 |42 |70 | 150 | 135 |[115| 3

.184.




.185.

HDF09-HDF28& N\t 2, HishmztEsE HDF09-HDF28 coupled of output shaft with input flange

HDAFO9-HDAF28TEMINE=, iRk

HDAFSME R R~F

TGS

HDAF09-HDAF28 coupled of output shaft with input flange

HDAF outline and mounting dimension

HDFiMEZ LR R~ HDFoutline and mounting dimension
d3hn)
3
A o
E ,g,g © I _
3 58
0|
C1 a C1
(0]
£
(=) =] «
(&) £
of|
s
« < Y 0y
= .- LA R e 7
Mounting form and rotation direction
7 i i=
== |—1~2 |—3N5
5@ C1/C3dsjdajdz |2 DaX 13 DaX13
09/90|12] 2| 88|86 | 18|35 | 19x43 | 14x33 | 11X26 | 9x23 | 19X43 | 14X33 | 11X26 | 9X23
11]110] 12| 2 [108| 82 | 22 | 40 | 24X53 | 19X43 | 14X33 | 11X26 | 24X53 | 19X43 | 14X33 | 11X26
14140 12| 2 | 135|104 | 32 | 50 | 38X83 | 28X63 | 24X53 | 19X43 | 28X63 | 24X53 | 19X43 | 14X43
171170 15| 3 | 165|128 | 40 | 60 | 42X115 | 38X83 | 28X63 | 24X53 | 38X83 | 28X63 | 24X53 | 19X43
21(210| 18| 2 [ 205|160 | 45| 70 | 48X115 | 42X115 | 38X83 | 28X63 | 42X115| 38X83 | 28X63 | 24X53
24 |240| 18| 2 |235(170 | 55 | 85 | 55X115 | 48X115 | 42X115| 38X83 | 48X115| 42X115| 38X83 | 28X63
281280] 18| 2 [275/190 | 60 [110] 60145 | 55X115 | 48X115 | 42X115 | 55X115| 48X115| 42X115| 38X83
= G 35 ds| D K| st | t|Z
=|e (8| 8| h|m|S ' 3 ' 120] 80 |100| 4xme | 113.5
T(;PQE 45|59 |110| 65 | 36 | M6 [200]160140[120 200 160140120 140} 95 115 4xh8_| 11 3.5
160(110|130 | 4XM8 | 11| 4
11/ 55|69 |130| 75 | 44 | M8 |200 /160|140 |120 | 200 |160|140 | 120 2001130/ 165 | ax10 | 14| 4
14|70 | 84 [170]100 | 55 | M10[300 | 250 | 200160 |300 [250|200 | 160 250150215 | 412 | 16 2.5
17|85 |103| 215|130 | 67 | M12[350|300 250 |200 350 |300|250 | 200 300 230265 | axmi2 |16 |4 5
211105/125| 245|140 | 85 | M16|350 300|250 | — |350 300|250 | 200 3501250 300 | 2XH16 | 20 | 6
24[120[140] 265145 | 95 | M16/400 350|300 250 [ 400 [350(300 | 250
28|140[160[315[175 [110| M16|450 [400(350 300 | 400 |350 300 4001300,350 4XWIS | 20 | 6
450|350/400 | 4XM16 | 25 | 6

CS S N
X \
= °© |
_é o - — - 7-5'7+1 o x| 5
] |
|
L
Ci a Ci1
o
S Sl Eh oo E
it Ta-- :
) ] B £
Ll 1l T
. =t e
o0
S
© <
. —® FRHR RhEEE T [
Mounting form and rotation direction
U i i
== |*1N2 |—3~5
= | a|(1C3 d3|ds|D2|ds
TvoE D3X13 D3X13
09|90 | 12| 2|88 |86 |16 | 25 | 19X43 | 14X33 | 11X26 | 9X23 | 19X43 | 14X33 | 11X26 | 9X23
171/110/ 12| 2 |108| 82 | 22 | 35 | 24X53 | 19X43 | 14X33 | 11X26 | 24X53 | 19X43 | 14X33 | 11X26
141|140 12| 2 | 135|104 | 28 | 45 | 38X83 | 28X63 | 24X53 | 19X43 | 28X63 | 24X53 | 19X43 | 14X33
17]170/ 15| 3 |165(128 | 38 | 55 | 42X115 | 38X83 | 28X63 | 24X53 | 38X83 | 28X63 | 24X53 | 19X43
21(210| 18| 2 | 205|160 | 45 | 65 | 48X115 | 42X115 | 38X83 | 28X63 | 42X115 | 38X83 | 28X63 | 24X53
24 1240| 18| 2 |235(170 | 55 | 75 | 55X115 | 48X115 | 42X115| 38X83 |48X115 | 42X115 | 38X83 | 28X63
281(280| 18| 2 | 275|190 | 60 | 85 | 60X145 | 55X115 | 48X115| 42X115 | 55X115 | 48X115 | 42X115 | 38X83
- 7 T 35 de| D/ K| st [ t]Z
=|e|8 8 himls ' g ' 120] 80 [100] axme | 11]3.5
T(;FS 45159 |110| 65 | 36 | M6 |200|160(140|120 SOO 160(140 (120 140 95 |T15] 4xus | 113.9
111 55 25 1 aa | W 160|110/130| 4XM8 | 11| 4
69 [ 130 81200/160(140|120|200|160 (140|120 20011301165 | 4xM10 | 14 | 4
14|70 |84 |170(100 | 55 | M10|300|250|200| 160|300 [250|200 | 160 25011801215 | 4XM12 | 16 | 4.5
17| 85(103|215(130 | 67 | M12|350{300 (250 | 200|350 |300|250 |200 )
300/230(265| 4XM12 | 16 | 4.5
21/105/125(245(140 | 85 | M16 (350 |300|250 | — |350 |300 250 | 200 3501250/300| 4XM16 | 20 | 6
241120(140|265(145 | 95 | M16|400 |350|300 | 250 | 400 |350 |300 |250
281140(160(315(175 |110| M16|450 [400 350 | 300 | 400 350|300 4001300]350) 4XWIS | 20 |
450/350/400 | 4XM16 | 25 | 6

.186.




